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BS | BRUSERRT |o@g@m)| () | gw | PRCRAE | DEORROWR | AEEERE | yTcpommkn|  ommke EELLD
FA—1 273%%@3_5?%* 94,100 152 1:2 FE w2 ;’%&%ﬁg”gﬂ%ﬁ% JtERAmTIE K&, R, TKE SFA1.3km 11K (40, 80)
FAa—2 |[UALEBITEH6E 6 157,000 167 | 1:1 fF£ LS2 %g%;ﬁﬁggﬁéuz EFEEMTIE K&, R, FTKE SFA550m 1/ (60, 200)
A3 ﬁﬁggﬁ%ﬁgﬁiiﬂé 112,000 163 1:1.5 | fE=E w2 Eg%ﬁtbtqﬂﬁﬁﬁ% LS. 1mTIE K&, AR, TKE SF4A800m 1{££ (40, 80)
SFE—4 | ETTB4ES 91,800 233 1:15 | fFE W2 é%ﬁﬁfﬁf&ﬁﬁggz FIER6mMTE K&, R, TKE SFA2km 11K (40, 80)
SFA—5 |ARETFHHET5042%8 110,000 325 1:1 FE w2 i?g%:%ﬁfgﬁ&b FPE4.5mTE K&, AR, FKE SFA440m 1/ (60, 200)
SFA—6 |ATEEITH8E4 71,400 175 1:12 | 5 W2 Tg%g&%?g%ﬁﬁ P ImME K&, AR, FKE B <F &800m 11K (40, 80)
FR—7 5@%%37_5?% H 87,300 128 1:1 FE w2 ;y__g%yﬁﬁ%ﬁﬁ%hé L EAmFLE K&, AR, TKE SEA900m 1{£ (40, 80)
#5_8 (FXoEA5T B13%7 107,000 165 1:15 | fFE W2 Tgﬁéﬂégfggf’mﬁ FIER6mM T8 K&, AR, FKE ST Tkm 11K (40, 80)
SFH-9 |ARTE2TH10%2 78,600 200 [ 1:15 | fFFE W2 Eg%;ﬁ%ggﬁé“z ﬁ%‘%ﬁg' K&, AR, FKE <P B 1.4km 11K (40, 80)
SFA—10 | REFE7TH8E14 67,100 230 1:2 | {F=E LS2 %fﬁgﬁg{;ﬂgﬂ%# FIER6mMTE K&, AR, FKE #15F 82.5km 11K (40, 80)
SFA—-11 (M E2TH21E75 89,700 136 | 1:1 FE w2 Eﬁ%i’g&%ﬁﬁgﬁ R R4mTTE K&, AR, FKE SEA1.4km 11K (40, 80)
SFA—12 |REFHE3912%E2 21,800 301 [ 1.2:1 it ’i%,ﬁg%i%figﬁ% 753.6mTiE K&, FKE FSF A 700m i X (60, 200)
SFH—13 ;Efglzg;?&i:ﬂm& 20800 | 166 | 1:2 | {EXE W2 &g%%fﬁ;'g%ﬁﬁﬁﬁb JLFE6mTE KE, TKE SFA3.4km X (60, 200)
FH5—1 |RETFARI53ET 117000 | 830| 1:15 | &% S2 fg’fgggg%ﬁ&ﬁ ﬁ%%}gf‘f KiE, FokE S 1.1km £ (60, 200)
SFAS5—2 |RR2T BH16%20 189,000 243 1:1 iﬁ%@fg %?%;?g;;g%#ﬁb RTa22mmE K&, AR, FKE SF4A130m 713 (80, 500) [HX
SFA5—3 |7 E2TB118&2 78,700 169 | 1:25 E§ﬁ§1i% E?ﬁi@@%&ghﬁb ;'t?’,i%ﬂff’ K&, AR, TKE #<FA350m i (80, 200)
FRO—1 (2T B21E 14 33,500 | 28,641 T%g’ & RC4 gf@gfﬁgt/ == Wg@,ﬁ"f’ KE, HR, FKE SF433.6km T2 (60, 200)
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